PARTG6

HOIST SWITCH
A AR

HOIST SWITCH




HOIST SWITCH

HOIST SWITCHES

L
-
] -< - @
l @
@
2 ¥ z . @ -
O ¢ @l 0
= | o ©
=) ad ] ’ > 6 o @ o
-1 —_ly.
KH-7028  KH-702  KH-704  KH-706  KH-7062
Technical Information
Model Contact Rating Emergency Contact rating Material Material
KH-702S 250VAC. 7A 125 /250VAC, 3A (No emergency button)
KH-702 ’ 125 /250VAC, 3A Body: Triloy
KH-704 125 /250VAC, 3A Button: ABS
380VAC, 5A : Button cap: PC P65
KH-706 125 /250VAC, 3A
CH_7062 250VAC, 7A Built—in ON / OFF Button Bodly: Triloy
380VAC, 5A Built-in ON / OFF Button Button: ABS

Circuit Diagram

KH-702S

v/
192 Komo,\<

=

|
PUSH: (G5 --
TURN:[O1]---

prs

PUSH :[BF -

|
'
i
I
I
]
]

TURN :[ON}--




HOIST SWITCH

CONTROL MICRO FOOT LIMIT POWER HOIST CAM
COMPONENTS SWITCH SWITCH SWITCH SWITCH SWITCH SWITCH

] &
=i [
o - 7
L
N4
S ¥ee
@]
|
T
(%2}
2 2
o s
te)
® 2 -
s
& =)
o s
T m o |
T ~ IS |
< I
T
X
Hﬂﬂ&]ﬁ
imiml | f;|rﬂ.|fﬂq g
i g
= = = = >
| 1 1 1 | I MW
| ! ! | ! | © o O
| 1 1 1 | | — o =z
" _ i , " j b £°
sl 1 1 1 1 1 1 O 5;
m_r+c_r+c_r+c_r+c_r+c_r+c m & [7A1
A - RS 0 [*) 0 0 [*) 0 H_ s
i L X c ® Te
mm Q2 ;
Iz c o
n o Q ~
25 E I

Circuit Diagram

v/
KOINO,\( 193

* Terminal Screw : M4x 6

* Terminal Screw : M4x 6



HOIST SWITCH

Dimension

KH-704 KH-706

15, 820 215, 920

77
ard

33
—
=

afi=N

T 1 TT |
(L - % (M ™\ é -+ % g e
® % ® 1] 2 - @i
\ o S o
) 3 IIEEn
@l ® . 1] <
3 ; '
i ® i G 1]
@i T L g
L w 19 49
78 78
* Terminal Screw : M4x 6 * Terminal Screw : M4x 6
KH-7062
915, $20

L B ¥
— e

o

437

© 1]

VYA

=

D
)

327

Jan\

D
el Pl L)

81.3 62

JA\

* Terminal Screw : M4x 6

7
194 KOINO,\<



